N of associated (recoToSim) looper tracks vs normalized x*

tracks vs normalized x? |

)

(recoToSim,

[N o associated

[N of reco track vs normalized x2 ]

track x?

berset

=

© 2 4 6 8 10 12 14 16 18 20

i
o
E
syoen areoydnp oney syoex ayeaydnp oney
I o
N <
00 X
— O
8
m =1
<
—
oy
—
o
[ee]
©
<
" o
: ¢ :
1 n_O o
) 5 3 3 =}
syoen ey oney syoel ayg]
I o
N <
00 X
— O
g
© =
—
<
—
N
—
o
1 —
_8
©
<
o
| o Mk}
o o > o
(=) S =1 (=)
syoen St syoen aniy’
o &
©
. |83
it 3K
< EE
0% Fo)
— TR
© M b <
— C,m_
<« EBs
— 9494
} no
o
—
o
0
© .
¢
2
i< *
H g
Haia S
Y A o
— Fflo =
5 3 3 5
syoen oney Z| syoen




	Contents
	Page 1


